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&5 E 4 B | TEhSDERE jza)jté:é E 4 THMSDKE [ FHE ha)jté:é R 4 B | LErooE ha)jté:é X 4 tmrookE | & h@jté:é
(m) (m) (kN/m) EBBf(m) (m) (kN/m) (m) (m) (kN/ ) (m) (m) (kN/m)
5 100kN/MZEBZ 5 -l -~ = -[3mZEEZ B ad ~ = = —| 100kN/ %% % = -~ = -[3mZEEZ B ol ~ = = =
ZzHnest 1.00]0.00 ~ 574 7171 Zhelst 10.00 ~  0.00| 1.58 8.47 et 1.00] 500 ~ 6.89 7171 #Zhlst | 500 ~ 6.89] 1.58 8.47
3 100kN/MZEEZ 5 -l -~ = -[3mZEEZ B ad ~ = = —| 100kN/ %% % = -~ = -[3mZEEZ B ol ~ = = =
ZzHnest 1.00]0.00 ~ 5.71 7139 #hlst 10.00 ~ 0.00| 1.57 8.43 et 1.00] 500 ~ 6.90 7139 #hlét | 500 ~ 690 1.57 8.43
4 100kN/MZEEZ 5 -l -~ = -[3mZEEZ B ad ~ = = —| 100kN/ %% % = -~ = -[3mZEEZ B ol ~ = = =
ZzHnest 1.00]0.00 ~ 5380 7253 #hlst 10.00 ~ 0.00| 1.59 8.49 et 1.00] 500 ~ 6.97 7253 #hlst | 500 ~ 697 1.59 8.49
5 100kN/MZEEZ 5 -l -~ = -[3mZEEZ B ad ~ = = —| 100kN/ %% % = -~ = -[3mZEEZ B ol ~ = = =
ZzHnest 1.00]0.00 ~ 595 7457 #hlst 10.00 ~  0.00| 1.57 8.41 et 1.00] 500 ~ 7.40 7457 #hlst | 500 ~ 740 1.57 8.41
100kN/MZEEZ 5 ~ IMEERD ~ 100kN/MZEBZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fheist ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fheist ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fheist ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fheist ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fheist ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fheist ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fheist ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fheist ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fheist ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fheist ~ Fheist ~
100kN/MZEBZ 5 ~ IMEEZRD ~ 100kN/MEEZ 5 ~ IMEHZD ~
Fhest ~ Fhest ~ Fheist ~ Fheist ~
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